What two European nations fought in the
French and Indian War?

A. Spain and France
& B. Britain and France
C. Germany and France

D. Russia and France

What officially ended the French and
Indian War?

% A. The Treaty of Paris
B. The Treaty of Ghent
C. The Treaty of Istanbul

D. The Treaty of London




What was the MAIN result of the French
and Indian War?

A. France gained control of North America
B. Spain lost all its land in North America

C. Native Americans kept all their land in
North America

+ D. Great Britain gained more power in North
America

Which of the following was a conflict
between Native Americans and British
settlers?

A. Massasoit's War
B. Chief Joseph’s War
% C. Pontiac’'s War

D. Squanto’s War




What British law prevented colonists
from settling west of the Appalachian
Mts?

A. Townshend Acts
B. Quartering Act
# C. Proclamation of 1763

D. Treaty of Paris

Why did Great Britain increase the taxes
for the colonists?

A. Because the colonists weren’t paying
any taxes at all

% B. To help pay for the French and Indian
War

C. To increase the salaries of the colonial
governors

D. To pay for tea




Why were many colonists against having

# A.

oo

to pay the new taxes?

They did not have any say in Parliament,
which was making the laws

. The taxes were too high

They were not used to having to pay
taxes

. They did not consider themselves British

citizens any longer

& D.

Which of the following was NOT a
method the colonists used to try to
protest the new taxes?

Sending a petition

. Boycotting British goods

Throwing tea off ships

Inviting King George to come visit the colonies
and see the problems for himself




What event resulted in the deaths of 5
American colonists?

{# A. The Boston Massacre
B. The Boston Tea Party
C. Paul Revere’s Ride

D. The Stamp Act




